0o

20210 60 140

oboobdb 2000000b000bO0oboOobo

HIRREE 2 BT

ooo2-1 O
oo |0 |O-00000 O (@0ooo) D(OO-0000)
1 v | 1220000 Slater O O Slater 0 O O
2 5 | (1.5)00D0000 000000 e . 000000 e . o*
3 8 | ODO*7 0000 Yong O 0000 Young O
4 9 | (1.22)000000 Schodinger Schrodinger
5 15 | (1.44) 00 200 OHermite 000000000.. 0000000000
6 17 | (1.50)0 100 0000 S 000000 FoOoooooooo
7 18 | (1.55)0 200 0o0O Fooooooooo
8 19 | (1.60)0 100 FOoSoooooo Fooooooooo
9 19 | 0O0*120 100 FGy =3220 GEFy =222 | FGy = 2220 GFy = 322
10 27 | 02000 ®(¢) e~ ime eme
11 31| (213)0 200 0oo0O (1.73) 000
12 [32](2200200030 | 0000 (1.73) 000
O

32| (38)000 4500 |n=k000000000O00.. 00000000

n=k00000000000 -100000000000-100000000000
13 00000000000000000000000000000R0000000000

ugobobdooobobboooobboooobbboooobbboooo




VIRRES 2 EIJJ—)(ﬁﬁ-

oog2-2 0O
o0 | O | O-00000 0 ((@Dooo) 0O(@D-0000)
14 46 | (4.1) 0O U(x) U(z,y)
15 46 | (4.3) 0 U() Ul(r, ¢)
16 47 | (4.0)D0D00 400 oooag e® 00og e
17 48 | 431000000 vo4000 ®4000
18 52 | O 4.3(c) 0000000000000 | 15000000
19 54 | (5.1) O U(z) Ul(z,y,2)
61 | O5.2 000000 Pi0O000O
20
oF / ZAN
5 °/ %
b -
1
1
0
P ‘/Pg
—1 7
\\_/1
2
—1 0
oooo €
21 66 | (5.95) 00000 D00000---000000000000000000
O0000 160000000000000
22 | 66 | (5.97) 0 (@2—1)" (22 =1)"de (22-1)"- (22— 1)"da
R2k- 1 2k 1
2 oo =/ = _ R L
3 |75 3 oY - Vi oY e =Vk
24 87 | D000 9 0%/0y? 0 02/02> 0?/0x% 0 0?/0y?




FIRREE 2 IR

oog 2-3 O

0000 | O | O0-00000 0 (0DO00D) 0(00-0000)
1 67 1 02
26)0 200000 - ——
(8.26) r 0602 r2 062
Oooooad 40
25 | 88 2 O 2 0
2600 400000 — —
(8.26) (r 7’2) (7" 5
oooooo 10
0? 0
2 07 2 0
(827)00 10 <r 87‘2) (7“ 87‘)
0? 0
2 07 2 0
(8.28)0D0 10 (r 5’r2> (T 8r>
0? 0
29)00 10 2 2
(8.29) (7“ 87’2> (7“ 87“)
A 0 0 X 0
2 31) 0 = —9 — — = — =
6 89 | (8.31) ?, Zh<28x Z@z) ly zh(zax $6z>
2
27 90 | (8.35) 0 cot200082¢887¢2 c0t29008¢8¢cos¢aa¢
D —D
28 90 | (8.36) O cot? f sin? o cot? fsin ¢ — 0 s1n¢
' 0p? 8¢ o
—H —H
90 | (8.41) O dddoooz200000000000000oaoo
D+H+1=cot?6 ( cosp— cosqﬁa —I—Slngb s1nq5 82
29 N 0o 0o 0o 0o 8¢2
o 2 2 82
:c0t29(cosq§(—sin¢)8—¢—|—cos ¢8¢2 —|—smq§cosq§8¢—|—sm ¢8¢2> +W
_Cot2082+82_008962+SIH982_ 1 62DD
N 092 092  sin?0 092  sin?0 0¢%  sin? 0 0>
30 92 | (844)0 10000 O=0S§S=00000=00000000000000
dSOOoooooo sSsgooood
31 92 | (844)000 200 O0000000ooOoO0oooDoOooOooooOo 10004
2 .2 2 .. 2
32 (99| (9.28)0000 nop er S0 qpgg | ggg J2mersin b g

h?RO®

RPRO®




VIRRES 2 EIJJ—)(ﬁﬁ-

oog2—4 0O
0000 | O |O-00000 0D (QOooo) 0(00-0000)
1 /3 . . 1 /3 . .
33 106 | (9.51)0 200 — 1/ —sinf(e' — e7?) ——/ —sinf(e'® — 79
2V 8w V2i V 87
1 /3 . 1 /3 .
34 106 | (9.51)0 200 —1\/—sinf 00000 —\/—sind 00000
2 m V2i V 87
35 | 112 | (9.60) 000 500 0 9.13(b) 0 9.13(b)0(¢) OO
36 | 112 | (9.60)000 1000 | O 9.13(c) 00O 0 9.13(d) 00
37 [ 115 | (9.70)00 200 0ooo (1.73)000
38 | 120 | O 9.18 ooo i, - by, 0
3 /3
39 120 | O 9.18 Yi0=1/-cosf Yiog=1/—cosf
' 4 ’ 47
3 3
40 | 121 | (9.91) O 000 4/—000 — 30000
4 8w
41 | 121 | (9.91)D0000O = —he ... = —fie %9 ...
42 | 121 | (9.91) 00000 ...00000l=¢00001---000004=10000
hZ> h2Z2
43 | 124 | (9.115) O = — 5 E=— S
2meag 2meag
44 136 | (OO0 00000 puBcosf = —uB O —puBcos = —uB O
45 | 139 | 500 --0e=1/20000* |..-0c=-1/20000 *
46 | 144 | (1041)00(1042)0 | 00000000 55000
47 | 145 | (1043)00(1044)0 | 00000000 5000
48 | 149 | 300 000000001000 00000000 1000
49 | 150 | 1111000200 | 1000 EYoooooo |1ooo B oooooo
50 | 155 | 00000400 Op=111240000 000000000000
400000000
51 | 158 | (11.41)00 100 +A\Hp, +Hp,




VIRRES 2 EIJJ—)(ﬁﬁ-

oog2-5 0O
000 | O |DO-00000 0 (0ooo) 0 (00 -0000)
52 | 158 | (11.41)00 200 Areryy ATeqrio
53 160 | (11.50) 00000 gooomoogoooooooon
*¥O0O00O0O3000000000000000 coO OO
DDDDOO/GOODDDDDDDD]/HépitaIDDDDDDD
0oDoOooDoOobooo
54 164 | (11.68) 00000 -0 11.7y0D000D0OD - goggoooooo
5%5) 164 | (11.71) 00000 goooooooon gooooooooooon
uoboodb+4+400booda
gogoooo
*900ooooooo
165 | (11.77) O qog @t =05550, b nponooooo
cx+dy =0
56 ao
<d —b) (d —b)
ar+by=0 poooo a b\ ocoooooo. 4 —Cc a —Cc a
{cm—i—dy:() A:<C d) A= a b - D
c d
57 | 169 | (11.97) O +>\2(~-) +)\2(~->:0
58 169 | (11.99) O o0o0j00000 ddtdnbOOO0OOO
59 | 171 | (11.107)0 500 i ¢j = Aanj) ¥ i (cj + Aay) )
j=1 j=1
60 | 171 | (11.107)0 6 00 ¢ —Aa,; 000000 -+ | ¢j+Aap; 000000 -
61 174 | ODO0OO 20 agoooo
O000O0O0OOOHartreeDOOODOODOOOODOOO
gooooobbobbobooooooooooooooo
62 177 | 500 Schodinger Schrédinger
63 179 | ODO*ro 300 Legendre 00 OO OO Lagrange 0O OO OO
64 181 | 1220000 Slater O O Slater O 0O 0O
h? h?
65 | 181 | (12.35) O T T




VIRRES 2 EIJJ—)(ﬁﬁ-

oodd 2—6 0O
oD | O |O-00000 0(@0ooo) D (OO-0000)
66 | 181 | (12.36)000 30 DoooQ
00000000000(1235) 0000000000
Schrédinger 00 0000000000000
Ut (r,0,0) = R, (1) Yem(0,¢) 000000 (12.36)
0D0000000000000000000000000
$; 0 U, pm(r,0,0) 0000000
67 |182 9000 (c) .00o001000000 | ---0000r010000
00010000000 --- | 00010000 ---
68 | 189 | O 12.6(a) 0 0 0500, 1000,....,2500 00 05.00, 10.00, ...,25.00
69 | 189 | O 12.6(b) FOOOOODO 44 FOOOOOO 34
70 | 192 | 8OO 00000000 D0000| 0000000000000
00000 00
71 | 194 | 12620000 0Dooo 0ooo
72 194 | (12.52) 000000 Schodinger Schrodinger
73 | 195 | 0O0*230 200 0000000000 s 0000000000 s
74 | 195 | 000200 0000000000000 | 0000000000000
75 | 197 | ooooooo 1800 | J=3,2,1 J=21,0
76 | 197 | 00DO0O00OOO 00000
0000000000000D0 L0 SO0000000
0000 JO0O0OO0OO0OO0OLDO SO00000000000
00 LOSO0O000000JO000DooooJoJ=
L+SL+S—1,---,|L-S/000000
77 | 197 | 00O 200 2: (Mp, Ms) = (2,0),(1,1),(0,2), My = -
I
78 | 197 | 00O 100 S My =—2:(Mp, Mg) = (=2,0),(—1,-1)
——
79 | 200 | 0020600 00000000000 00000000000




VIRRES 2 EIJJ—XETJ-

oog2-7 O
0000 | O | O0-00000 0 (oooo) 0(0O0-0000)
80 | 208 | 300 0000 4, =—h(--- 0000 4, = —ihi(---
81 | 208 | (12770 100 ,—h( ,—ih(
82 | 208 | (1277)0 20000 | —C/A —C/ih
83 | 208 | (1280)0 10000 | —C/h —C/ih
84 | 208 | (12.82) 0000 —~C/h —C/ih
85 | 208 | (12.82) 0000 —h( —ih(
86 | 208 | (12.83) 000 —h( —m(
87 | 213 | (13.1)0D0000 Boh 0 O Bohr 0 [0
88 | 214 |0 1310100 ag ag — 1
89 | 215 | 00*10100 000 000
90 220 | O 14.6 O caption Pu Pu
91 221 | O 14.7 0 caption Du Vu
92 | 221 | O 14.70 caption lp 00000 --- e 00000 ---
93 | 222 | O 14.8 00000000
4 /
P(z,y)
.
94 | 223 | (14.26)00000 0000(14.22) 00 0000 (14.21) 00 (14.22)

o




VIRRES 2 EIJJ—)(ETJ-

oog 2-8 0O
oood 0 0.00000 0(@ooo) 0O(@O-0000)
95 233 | (15.28) O ~=0.57722150 00000 | v=0.577215000000
96 235 | (15.37) O v=0.5772215000000 | v=0.577215000000
97 [ 239 | (1545) 0000 (C.88)0 OO (C.89)0 00
98 [ 242 | (16.7)000 300 | h=—-A2/24+NZ, -
99 246 | (16.28) 00 1000 | Ry (r)
200

100 247 | O 16.7(c) goooooooooooa
101 252 | O 16.14 o 2p 00000000000 A=0000
102 259 | (16.59) O dz ded00d2000
103 259 | (16.59) 00000 goooo

00002000000000000 10000
104 | 259 | (16.60) O [+ A%(2)a] [+ A2(2)b)
105 264 | ODOO 300 semioccupied orbital semioccupied molecular or-

bital

106 264 | OOO 600 unoccuoied unoccupied




VIRRES 2 EIJJ—)(ETJ-

o000 2-9 0O

0ooo 0O |0-00000 0D (QOooo) 0O(@O-0000)
107 279 | 000 400 x000 7000

[ hy,dv huw = [ X" hyodv
108 | 280 | (18.6) O e = J X d fxfj X

S = [ xpxpdv S = fxux,,dv
109 282 | 1200 2|5 23
110 283 | (18.22) 00 200 218] x 2 = 4|4| 28 x 2 =48
111 283 | (18.22) O 4.472|8] — 4|8| = 0.472|3| 4.4728 — 48 = 0.4728
112 285 | (18.35)000 100 | O 18.10 0 18.1(a)

a— 203
o — [
G0 <o

113 285 | O 18.11 0000000000000 A

O000e0000O0O0OO Y! y!

O00o00o0ooooo a+28 Tﬁ_
114 | 286 | (18.37) O E_ —E, =302a+28) — | Ex — E. = (6a + 83) —

(6a + 88) = —28 3(2a + 28) = 28
115 286 | (18.38) 00 200 -2 2|3
116 286 | (18.39) 00 300 —0.4728 0.4723
117 286 | (18.39) 00 500 49 kJ-mol~! —49 kJ-mol~?
118 286 | (18.39) 00 500 43 kJ-mol ™! —43 kJ-mol 1




VIRRES 2 EIJJ—)(ETJ-

ooo2-10 O

0000 | O |O0-00000 0 (@Oooo) 0(@O-0000)
119 | 288 | (1846) 000000 |---0000000000000000000000
0 0000k=0000000=00000(1842)000

¢, =00000000000 k=1000000000
O000D0A=2cosfdO000O0DOONOOOOADOOOO
O0000D0O0OFE=a+A000000AO0O0O00O0 MO
0000000000 0On0O0 AODDODODODODODOOO
0000000 0oO0oDOoDoooooo MOODODO
nO0000000000ANODDOnOOOOOOO6O
nO00000000000kKkD 10000000000

oooooo
120 | 289 | (1849) 000000 | 0000000 Doo0o000o0oo0
0
121 | 292 | (18.68) 00000 oooooo

dddy,0dooooobbbbbbobooooaad
00000 0O Hiickel O M

10



ooo2-11 O

VIRRES 2 EIJJ—XETJ-

ool | O | O-00000 0 (@ooo) 0D (0O-0000)
122 | 296 | 0 182300 ¢ 00O | 2x0.3723 2 x 0.3722
O
123 | 298 | O 18.26(a) O (b) D0000000000000 0.38900 0.388 000
0400000
124 | 298 | (18.98) 00 paz = 2 x (v/2/2) x (1/2) P2z = 2 x (v/2/2) x (1/2)
+1x0x(1/V2) +1x0x(=1/v/2)
125 | 299 | (18.114) O paz =2 x (V2/2) x (1/2) | pas =2 x (V2/2) x (1/2)
+2x0x1/V2 +2x0x(=1/v/2)
(a) H H
e Ht—d
NG N N
CH CHs
(b) Va .
HyC=—=C HyC=C
2 \’\ 2 \\
CH CHs
126 | 299 | O 18.27 00000000
(c) H H
~ / - /
HQC:C > HQC_C
NN \

CHy

11



ooo2-12 0O

VIRRES 2 EIJJ—)(ﬁﬁ-

0000 0D |0-00000 O(@ooo) D (OO -0000)
(18.153) 0 O
127 | 303 | (18153) 00D OO | 200000 OOO ao0000 00000
00
(18.155) O
128 | 303 | (18.157) O 00000 XOO ax0000 XO00OO
120 | 305 | (18167) 00D DOD | 0003000000 000
0000 (18.168) O
130 | 306 | O 18.34 00000 0.65500 0.665000
131 319 | (19.9)0000000 | sinf =—1/20cosf =+/3/2 | sinf = /3/20cosf = —1/2
132|330 | 000 200 nog 0
133 | 331|000 300 o, = Cs0, o, = Cs0,
134 | 331 | 000400 D(o,) = D(C5)D(0,) D(o,) = D(C3)D(0,,)
135 | 335 | 02110000 2008 . % = Ca0y ;
D(o0,) = D(C5)D(0,) D(o,) = D(C5)D(0,)
136 | 342 | 02190000 B, B,
137 | 343 | O 21.5(b) oy o,
138 345 | (21.27) 000000 | f(z)=2%2+42000000 | f(z,y) =22 +¢y2 0000
0030000 00003000000

12



ooo2-13 O

o0 | O | O0-00000 O(@Doo) O(@OO-0000)
—% —V3 —% VG
139 346 00 44|30 Cy _ﬁ _1 ﬁ _1
. 4 2 /. N 4 2 /.
DD‘;—l DD‘;—I
140 | 371 | 000200 Wi, O (5,)° Wi O ()
141 373 | 0040000000 C4sH4 C4Hg
0000 24.1.100
142 | 383 | (24.30) O Yi,020000 L, 02000000
143 | 383 | 000300 0000 ¢, 0 oooo ¢/, 0
144 419 | 00 120000 oooooooon
OO0 110
0155 0 0000000 pOonoo0O
D164DE(pQ,E(ps,‘--DDDDDDDDDDDDDD
oooooo
145 420 | OO0O0O

13

VIRRES 2 EIJJ—XETJ-




FIRREE 2 IR

000d2-14 DO00O0OO0OOCOOO0OODOOO2p00C00000O

0ooo

O

o-0b0o0on

gboooboobooooog

200

goo0obOooboO0ooD400000b00bO0D0ObOoUO0obOOoDOobDOoOn

200.(a)

10

(125000 60

(1.25) 000000000 +00000000000000¢00
00000000000000000000Y%(r)0 H0000
0000000 (r)0000000000-,000000000
000 y(r)000000000000000000000 ¢t00
0000000000000000 f(¢)0¢00000046Hk/f(t)
00000000000 ¢000000000000 f¢) 000
00000000000000000 »00000000000
00(1.25)0000000000000000000000000
000000000000000000000000000000
00 E000O0O0(1.25) 0000000

200.(b)

42

oog 30

b z000000000000O000O0000OD0O0O0 2000
gjodooououououououooooioooouuououuuddy
Uz0Oboooobboooobbooobbboouobbooo
udobs00bbbooobobboodbobbbooooboboa

200.(c)

35

(5.5)000 60

00000000 0000000 D0O0O0D o0ODOOODODOO
0000000000000 ®(¢)0 o0 2000000000
o000odb0 —¢00D00O0OD0OD0OeODODOODODOOODOD
(o) 000000000 D0O0ODDOODODO0OO0O0OO0OOD 0O
00000000000 00ooooDooooéODOOODOOD
O0000O@OoOsind00000000000000O000O0O0OO
000 0000 0ODO0ODOODODOOOODOUODOOODOODOOD
ggoboboooobboooobbbooogobbbouoonooo
O0(.5) 0000 200000000000000O000O0O0OO
o

200.(d)

96

(9.3)000 3
0000 60

0000000000000 000000onooog ®(¢)0 ¢
02000000000000000 —00000D00OO0¢0ODO
0000000000 ®(p) 00000000000 OOO0OO0O
OO0000o0o0d 0 r0O0000D0ODOO0ODOOOO0ODOOOOODO
000000000000 DDO0ODO0OO0 BW O roooooo
000000 R(r)DODDO0ODO0ODO0O0O0O0OO0OUOOO ¢
ggoboboooobobboooobbbooobobobouoooonoo
gobogobboooboboooobboobobbuoooog =0
ggobbboooobbtbooobbtbooobbbuoooobo
gogoobooooooo

14




FIRREE 2 LR

b 1s8gobgbooobooobobboobooboobobo

/DDDDDD

(a)

| 6

m = =£2

Com

m = +£1

27)

2w

m =20

Con

15



FIRREE 2 LR
b 2100b0b0o0boobooboboobooboonoo I

/DDDDDD ~N

00 Legendre 10 00 00000000000000(GA9)000000000(5.59) 000000
0001 -2?)-du/dz0 2000000000000000000000000(5.59)00 w0 P
0 P"000000000000000

% ((1 _xz)dfém) - [e(u 1) — 1?;} P =0 (1)
%((1—x2)dﬁ‘m)+ {n(nﬂ)— 1711;}13,1”:0 (2)

()00 P*0OO0O0O (2)00 P*PO0O0O0DOOODOOO

g (=55 ) - (0= ) v e D a1 PTEE =0 ()

0000O0P"0 ((1-2%)dP/dz) 00000000

pras (0= SE) = [ (0= | - S < (-5 @

gogoboboogobood

0D00000(4)00 (5)0000020000000000(4)00 (5)00 (3)00000000

(0= SE) - e (0= ) |+ e ) e 2P =0 (0)

0000000 -1<2x<1000000001000 (1-2*)0000000000004#n,000
ll+1)—nn+1)#00000

1
/ PPz = 0 (1)

—1

O000D00000OLegendre 0000000 O0OO0DOOO
- J

16



HIRREE 2 ML
gb250000000booboobobooboobobooboobo I

gooboboooobooogd

/DDDDDD ~
0000000000000000 ADOODOOO(R23)00(82) 0000000000

0? 0? 0?2
A= Ox? * Oy? + 022
20 0? cosf 0O 1 02 1 0?

~ror +W+ r%in@%—i— r2 062 * r2 sin? 6 O¢2
1 . 0 0? 0 .07 1 09?2 1
= _ sinf [ 2r— +7r°— ) + [ cosf— +sin6 4+ — — 0o ooooog

r2sinf or or? 00 002 sinf 9¢? | r2?sind
1 0 3} 0 3} 1 02
_r2sin0{n95< 8r)+@(8m9%)+sin987¢2} oooooboooooao

(8.26)

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD—hz/(2m)DDDDDDDDDD
DDDDDDU(T‘,Q,gb)DDDDDDDDDDDDDDDDDD
H ol 90 28+8s 0 +162 +U(r,0,¢) (8.27)
=————— |sinf— — [ sinf— _— r .
2m 12 sin 6 or 00 00 sin 6 02 T
200000000000000O0UM4 00000

004000 2000000000000000------eeeeeeennn.
ugoboboooboboboooobobbooobobbooooonoo

N o [,0\ 0 9 1
jo 9 (20, 9 9

“omreeng |2 5 <r 87‘) * 20 (Smeae> " sing 06 +U@)

Nph N ~
1 —0 —0 :1
h2 32
= gd oo 2
2mr1 9¢? +U(¢) (8.28)

(44)000000000000000O0O0OOOOO
3000000000000000(GB.3)0000a
D0 5000 3000000000000000 - e

: G 0 0 0 0 1 0
H=—— — (7?2 — —
2m r? sin 0 [Sln9 or ( 87) * 00 (Sme(%?) * sin 0 0¢? +U0,0)
<~
—0
1 0 0 1 02
= T o 2av0 | 90 a0 goono
2m r sin 0 {39 (Smeae) + o 98¢2} +U(0,9)
h? 1 0 % 1 02
T 2ma? [sinQ% <Sm0%) * sin? Hang} U, 0 sin noooo (8.29)

(5.3) D0000DLU0DO0OO0OOOO0ODOODOOOO

.

17



#RREE 2 R LAET
goobooooobobuooooboboooobo L

ggobobooooboboooobbboooooboouooooo

p33 00O OGO x2
pd6 00000 x1
p54 00000 x1
p73 0 7.10Hermite 00000000 Hu(y) = (=) (d"e ¥ /dy") 00000000000 n =
O~60000000
ogod —
Hermite 00000000 Hy(y) = (—1)%¥ (d% ¥ /dy*) 00000000000 v=0~600
gooogad
p87 (8.23)00D §/040000C0C0O00DDOOOOD
0? 0%  cos?fcos® ¢ O? sin?¢ 92
ggz =S 0 b e e Ty 2
+<(:os 6 cos? ¢+sin2¢) 2_{_ (_ZSinﬁcosecosz¢+cos&sin2¢> 0
r or r? r2sin 00
2singcos¢ O  sinfcosfcos’p (0 0 0O 0O
2520 ¢ r (8r80+303?“>

_cos@sinqﬁcosqﬁ 0 0 + 9 o 0 _Slﬂ(bCOS(b 224_22
r2sinf 80 9¢ ' ¢ 00 r ¢ Or  Or 0¢

p87 (824)000 9/0p 00 UIDODDOOIDOOOOOODODO

2 _ sinZ f sin? ¢ 0 . cos® fsin® ¢ 9” cos’ ¢ 0? cos? fsin® ¢ + cos? ¢ Kl
dy? or? 72 902 ' r2gin2 § Og2 or
2sinfcosfsin®¢  coshcos?¢p\ O
+ 1 - + %

r2 r2sin @

r

_2singcos¢ 9 sin 6 cos f sin” ¢ 0 a9 8
r2sin>f  9¢ r 07“89

8
+cos€sm¢cos¢ 0 0 L9 0 0 sm¢cos¢
r2sinf 800¢ ' ¢ 00

99 _ 99
0¢ Or 86
p91 08200 (a)0 (¢)O df, dpO0ODO «

p97  (9.12) 00 m=0,41,42,---Q + ¢

P98  (9.20) 00 (9.24) 00 e % — e P/?
27

pl05 (944)0000000000D0OOOOOO

pl53 0000 20000000000000 =0
pl60 (11.50) 00 3000 (C.71)000 —(C.68)

r? sin Odrd0doU* P
0
ogoga

S
N

udn
ugn

18



HIRREE 2 RILAAT

p217 (148)00000000000000(14.8)00000.......
p231 (15.19)0000000000

K = /¢a (bb 1 2)¢a( )¢b(2)dv1dv2

= [0 {———i+ ! ]%( Jon(2)durduy

a2 p1 7“12

/qbb e /% )on (2 /gzsa Yo (2 dv2/¢b )¢a(1

N /% Jon(ea(en() g (1 /% 6u(2)dws / n(1)ou(D)dn

T12

g g

=S =S

/% )i (2 /¢ )éu(1 d +/¢a o ( )¢a()¢b()d v _1_5;

12

p280 (18.5) 000000000000 O00

p281 (18.9)DD/XMXVdvDDDDDSW:ciWDDD

p268 00DO0DDO0O0OD 11900000000000000(18.44)00 10000
p292 (18.66) 0000 0MO0O0000000000000

“ . " . 2
p292 (18.68)DD/|Z (Cem")xmﬁdvmm/‘z (Celme)xm‘ dv000000000000000
m=1 m=1

gooo

208 (18.93) 0Dy =------- = \f (X1 — X3)
208 (18.96) 00 ¢qz =2 x (1/2)2 +1 x (—v2/2)? =

208 (18.97) 00
oCccC

pio = § N;C1iC2; = M1C11C21 + N2C12C22
i

x (1/2) x (V2/2) +1 x (v/2/2) x 0

299 (18.110) 00 ¢q =2 x (1/2)2 +2 x (v/2/2)2 =15
209 (18.112) 00 qs =2 x (1/2)2+2 x (—/2/2)2 =15
200  (18.113) DO p1a = 2 x (1/2) x (v/2/2) + 2 x (v/2/2) x 0 = 0.707

19



p303

p303
p303

p365
p370
p370
p375
p378
p381
p381
p381
p384
p388

p389
p392
p395
p422

(18.153) 0000000

(a — E)y +Bcoca = 0
Bcocr +(ao—E)cz = 0

(18.158) 00 00000IDO 1810000 ---000000OO

(18.158) DO DOO0ODO
(a — E)y
Be

24190000
24.22)0000
(24.23) 000 2
00000000

HIRREE 2 RILAAT

+Bco = 0 00oBI0OO —Acy +co = 0
_—
+a—FE+pB)ce = 0 e +H(=A+1e = 0
@ﬂﬁﬂk>:i/¢$”«jﬂ?¢$NﬂdT
0005000600 (RO (R)0DD0ODO x3

2331010000 ---00D0O00DODOD---D0 —0O---0000000D00
24.15)00(24.18)0000000=000000:0000

Uob=00000nb0:0b00o0

(24.15)
(24.19)
(24.22) 000000DO000DO000O— 000 V(0,0,---,0)0000000
( ) V(leQZ)"'QNvib>_V(ana"'o) - V(QlaQ27"'@QNvib)_

gooo ---0bb —---000
- p0oogg —----0o0ogg

024900000000000000
D.,00000000000C,0S8,0002000000000000 ¢0000 —¢0O0
00000000000000¢0000000000002C(¢) 000
202 (¢), 203 (¢), 2CL (¢)---2CX(¢) ODODDODDOO0O0D0DDO0002S,(¢p) 000000

000
0 24.100 Doy,
300 ---000

O00Oo0,(2y0)0 — 0O o,(yz 0)
ug —---0o0ogg

Ob0O0o0oDO0o0obO0o0obOooboooo20190 500

00 (23200

- 0oogg = ---0b0boo

20

- goooogooon



p4d08 OOOOODO GaussODODOOODOOO

O
C.4.6 Gauss 1 I

0O 0O 0OO0oOo
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/ e dy = \/E (C.77)
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